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At the zoo
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bear alligator
giraffe elephant
gorilla ostrich
monkey tiger
tiger rhino
ostrich lion
lion monkey
rhino gorilla
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sfy 1 There are four loins at the zoo. yes no
s> 2 There are two elephants at the zoo. yes no
o> 3 There is a gorilla at the zoo. yes no
> 4 There is atiger at the zoo. yes no
#®) 5 There are two alligators at the zoo. yes no
) 6 There are six monkeys at the zoo. yes no
®> 3 There are two bears at the zoo. yes no
> s There are two ostrichs at the zoo. yes no
M) o There is a giraffe at the zoo. yes no
®> 10 There is a rhino at the zoo. yes no
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